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QUESTION 1 

Answer Remarks 

(i) 

A: Hotel A; B: Hotel B; C: Hotel C; W: With Water Problem; W’: Without Water Problem 
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(ii) 

       W' W' A W' B W' CP P P P       

 W' 0.1960 0.4455 0.3395P     

 W' 0.9810P   

 

(iii) 

 
 
 

W' B
W' B

P
P

P B


  

 
0.4455

W' B
0.9810

P   

 W' B 0.4541P   
 

 

 

 

 

 

 

 

 

 
 

QUESTION 2  

Answer Remarks 

(a)(i) 

The number of three-digit can be formed: 

5 4 3    

60 ways   

(a)(ii) 

The number of three-digit can be formed: 

3 5 5    

75 ways   

 

(b)(i) 

The number of ways: 
4 4 4

1 1 1C C C    

64 ways   

 

(b)(ii) 

The probability: 

4 4
1 1

4 4 4
1 1 1

C C

C C C




 
 

0.2500  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



UNIVERSITI MALAYSIA PAHANG 

3  

 
Statistics & Probability 
By: Chuan Zun Liang 

http://ocw.ump.edu.my/course/view.php?id=455 

                                                     
 

 

 

 

 

 

 

 

 

(b)(iii) 

The probability: 

4
1

4 4 4
1 1 1

C

C C C


 
 

0.0625  
 

 

 

 

 
 

QUESTION 3 

Answer Remarks 

(i) 

 
6

0

1i

i

f x



  

1 1 1 1 1 1
0.9 1

1 2 3 4 5 6

 

       
 

 

2

49
   

 

(ii) 

   
6

0

i i

i

E X x f x



  

   
           
2 2 2 2 2 2

0 0.9 1 2 3 4 5 6
1 49 2 49 3 49 4 49 5 49 6 49

E X
           

                 
           
           

 

 
12

49
E X   

 

 

 

 

 

 

 

 

 

 

 

QUESTION 4 

Answer Remarks 

3.3   

   2 1 2P X P X     

   2 1 1P X P X     

 2 0.8414P X    
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QUESTION 5 

Answer Remarks 

(i) 

 ~ ;12,0.45X bin x  

(ii) 

Mean: 

 12 0.45np    

5.4   

Variance: 

    2 1 12 0.45 1 0.45np p      

2 2.97   

Standard Deviation: 

    1 12 0.45 1 0.45np p      

1.7234   

 

(iii) 

 3 0.1345P X    

(iv) 

   6 1 6P X P X     

   6 1 5P X P X     

 6 0.4731P X    

(v) 

   7 1
n kkn

P X p p
k

 
   

 
 

     
7 12 712

7 0.45 1 0.45
7

P X
 

   
 

 

 7 0.1489P X    
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

QUESTION 6 

Answer Remarks 

0.0012; 1000p n   

 1000 0.0012np   

1.2  

 2 0.8795P X   
 

 

 

 

 
 


